
X[0] <= 0.5
mse = 0.998

samples = 26260
value = -0.002

X[19] <= 3.923
mse = 0.708

samples = 20492
value = 0.271

True

X[16] <= 0.5
mse = 0.808

samples = 5768
value = -0.983

False

X[17] <= 0.5
mse = 0.691

samples = 20490
value = 0.269

X[32] <= 0.5
mse = 20.827
samples = 2
value = 7.755

X[19] <= 0.033
mse = 0.15

samples = 1140
value = -0.118

X[21] <= 1.376
mse = 0.714

samples = 19350
value = 0.293

X[3] <= 0.5
mse = 0.136

samples = 748
value = -0.07

X[1] <= 0.5
mse = 0.165

samples = 392
value = -0.207

X[7] <= 0.5
mse = 0.108

samples = 365
value = -0.125

X[13] <= 0.5
mse = 0.156

samples = 383
value = -0.02

X[30] <= 0.5
mse = 0.1

samples = 354
value = -0.116

X[26] <= 0.5
mse = 0.302
samples = 11
value = -0.477

mse = 0.095
samples = 260
value = -0.14

mse = 0.105
samples = 94
value = -0.053

mse = 0.221
samples = 9

value = -0.606

mse = 0.015
samples = 2
value = 0.363

X[21] <= -0.748
mse = 0.139

samples = 315
value = -0.054

X[15] <= 0.5
mse = 0.204
samples = 68
value = 0.137

mse = 0.123
samples = 169
value = 0.008

mse = 0.148
samples = 146
value = -0.12

mse = 0.185
samples = 63
value = 0.097

mse = 0.169
samples = 5
value = 0.645

X[7] <= 0.5
mse = 0.174
samples = 26
value = -0.481

X[7] <= 0.5
mse = 0.158

samples = 366
value = -0.186

X[18] <= 0.5
mse = 0.095
samples = 25
value = -0.418

mse = -0.0
samples = 1

value = -1.821

mse = 0.101
samples = 19
value = -0.493

mse = 0.039
samples = 6

value = -0.245

X[20] <= 0.5
mse = 0.152

samples = 362
value = -0.194

X[9] <= 0.5
mse = 0.314
samples = 4
value = 0.326

mse = 0.14
samples = 337
value = -0.212

mse = 0.245
samples = 25
value = 0.041

mse = 0.014
samples = 3

value = -0.295

mse = 0.0
samples = 1
value = 0.822

X[21] <= 0.083
mse = 0.666

samples = 17769
value = 0.316

X[21] <= 2.326
mse = 1.172

samples = 1581
value = 0.035

X[1] <= 0.5
mse = 0.575

samples = 11716
value = 0.35

X[1] <= 0.5
mse = 0.836

samples = 6053
value = 0.249

X[16] <= 0.5
mse = 0.569

samples = 649
value = 0.17

X[16] <= 0.5
mse = 0.574

samples = 11067
value = 0.361

mse = 0.551
samples = 635
value = 0.185

mse = 0.878
samples = 14
value = -0.495

mse = 0.37
samples = 10731

value = 0.353

mse = 7.042
samples = 336
value = 0.62

X[9] <= 0.5
mse = 0.825

samples = 305
value = 0.04

X[9] <= 0.5
mse = 0.834

samples = 5748
value = 0.26

mse = 0.762
samples = 282
value = 0.097

mse = 1.097
samples = 23
value = -0.549

mse = 0.742
samples = 4254
value = 0.287

mse = 1.089
samples = 1494
value = 0.184

X[15] <= 0.5
mse = 1.158

samples = 1377
value = 0.072

X[16] <= 0.5
mse = 1.195

samples = 204
value = -0.226

X[14] <= 0.5
mse = 1.094

samples = 1270
value = 0.044

X[16] <= 0.5
mse = 1.8

samples = 107
value = 0.405

mse = 1.092
samples = 1113

value = 0.08

mse = 1.035
samples = 157
value = -0.21

mse = 0.659
samples = 100
value = 0.31

mse = 14.273
samples = 7
value = 1.576

X[19] <= 2.362
mse = 0.818

samples = 193
value = -0.29

X[30] <= 0.5
mse = 6.977
samples = 11
value = 1.049

mse = 0.663
samples = 18
value = -0.901

mse = 0.787
samples = 175
value = -0.216

mse = 0.019
samples = 7

value = -0.323

mse = 10.354
samples = 4
value = 3.108

mse = 0.0
samples = 1

value = 10.641

mse = -0.0
samples = 1
value = 0.539

X[1] <= 0.5
mse = 0.624

samples = 5062
value = -1.028

X[19] <= 1.181
mse = 2.027

samples = 706
value = -0.663

X[22] <= 0.5
mse = 0.384

samples = 367
value = -1.233

X[19] <= -1.52
mse = 0.638

samples = 4695
value = -1.012

X[14] <= 0.5
mse = 0.414

samples = 322
value = -1.2

X[17] <= 0.5
mse = 0.131
samples = 45
value = -1.452

X[19] <= 3.285
mse = 0.378

samples = 310
value = -1.214

X[25] <= 0.5
mse = 1.34

samples = 12
value = -0.76

X[21] <= 0.935
mse = 0.375

samples = 309
value = -1.217

mse = 0.0
samples = 1
value = 0.235

mse = 0.422
samples = 218
value = -1.176

mse = 0.241
samples = 91
value = -1.321

X[21] <= 1.31
mse = 0.341
samples = 11
value = -1.161

mse = 0.0
samples = 1
value = 1.846

mse = 0.234
samples = 5
value = -0.72

mse = 0.123
samples = 6

value = -1.539

X[31] <= 0.5
mse = 0.047
samples = 3

value = -1.012

X[19] <= -1.083
mse = 0.12

samples = 42
value = -1.491

X[15] <= 0.5
mse = 0.007
samples = 2

value = -1.158

mse = -0.0
samples = 1

value = -0.721

mse = 0.0
samples = 1

value = -1.073

mse = 0.0
samples = 1

value = -1.243

X[9] <= 0.5
mse = 0.015
samples = 7

value = -1.733

X[19] <= -0.047
mse = 0.128
samples = 35
value = -1.434

mse = 0.004
samples = 6

value = -1.763

mse = -0.0
samples = 1

value = -1.371

mse = 0.168
samples = 10
value = -1.15

mse = 0.077
samples = 25
value = -1.531

X[7] <= 0.5
mse = 3.234
samples = 7
value = 0.111

X[17] <= 0.5
mse = 0.631

samples = 4688
value = -1.014

X[2] <= 0.5
mse = 0.582
samples = 6

value = -0.759

mse = -0.0
samples = 1
value = 3.302

X[8] <= 0.5
mse = 0.024
samples = 3

value = -1.454

X[31] <= 0.5
mse = 0.309
samples = 3
value = -0.18

mse = 0.001
samples = 2

value = -1.378

mse = 0.0
samples = 1

value = -1.757

mse = 0.0
samples = 1
value = 0.281

mse = 0.193
samples = 2

value = -0.641

X[20] <= 0.5
mse = 0.22

samples = 195
value = -0.802

X[19] <= 1.879
mse = 0.647

samples = 4493
value = -1.023

X[21] <= 0.839
mse = 0.185

samples = 173
value = -0.835

X[29] <= 0.5
mse = 0.417
samples = 22
value = -0.551

mse = 0.172
samples = 120
value = -0.793

mse = 0.202
samples = 53
value = -0.932

mse = 0.407
samples = 14
value = -0.327

mse = 0.091
samples = 8

value = -1.041

X[21] <= 1.837
mse = 0.665

samples = 4093
value = -1.009

X[10] <= 0.5
mse = 0.432

samples = 400
value = -1.168

mse = 0.652
samples = 4055
value = -1.014

mse = 1.696
samples = 38
value = -0.599

mse = 0.329
samples = 186
value = -1.281

mse = 0.494
samples = 214
value = -1.079

X[19] <= -1.377
mse = 1.54

samples = 513
value = -0.787

X[21] <= 2.53
mse = 3.256

samples = 193
value = -0.308

X[15] <= 0.5
mse = 3.441
samples = 16
value = 0.205

X[21] <= 0.202
mse = 1.42

samples = 497
value = -0.827

X[8] <= 0.5
mse = 2.616
samples = 15
value = -0.128

mse = 0.0
samples = 1
value = 3.421

X[19] <= -1.48
mse = 2.857
samples = 11
value = 0.359

X[12] <= 0.5
mse = 0.379
samples = 4

value = -1.211

mse = 2.774
samples = 5
value = 1.084

mse = 1.891
samples = 6

value = -0.365

mse = 0.045
samples = 3

value = -1.629

mse = -0.0
samples = 1

value = -0.375

X[19] <= -1.249
mse = 1.563

samples = 270
value = -0.697

X[19] <= 0.342
mse = 1.201

samples = 227
value = -0.985

X[29] <= 0.5
mse = 0.091
samples = 13
value = -1.569

X[21] <= 0.113
mse = 1.6

samples = 257
value = -0.65

mse = 0.017
samples = 8

value = -1.704

mse = 0.135
samples = 5

value = -1.375

mse = 1.571
samples = 247
value = -0.689

mse = 1.435
samples = 10
value = 0.238

X[19] <= 0.317
mse = 0.262
samples = 27
value = -1.324

X[21] <= 0.381
mse = 1.304

samples = 200
value = -0.941

mse = 0.267
samples = 21
value = -1.215

mse = 0.007
samples = 6

value = -1.758

mse = 2.024
samples = 7

value = -0.063

mse = 1.249
samples = 193
value = -0.973

X[21] <= 2.453
mse = 3.542

samples = 169
value = -0.176

X[7] <= 0.5
mse = 0.334
samples = 24
value = -1.218

X[18] <= 0.5
mse = 3.447

samples = 167
value = -0.221

X[14] <= 0.5
mse = 1.514
samples = 2
value = 2.6

X[4] <= 0.5
mse = 4.938
samples = 81
value = 0.095

X[30] <= 0.5
mse = 1.813
samples = 86
value = -0.527

mse = 3.023
samples = 68
value = -0.235

mse = 11.674
samples = 13
value = 1.966

mse = 2.133
samples = 55
value = -0.201

mse = 0.827
samples = 31
value = -1.063

mse = -0.0
samples = 1
value = 3.311

mse = -0.0
samples = 1
value = 0.469

X[24] <= 0.5
mse = 0.093
samples = 23
value = -1.301

mse = -0.0
samples = 1
value = 1.706

X[2] <= 0.5
mse = 0.092
samples = 15
value = -1.394

X[3] <= 0.5
mse = 0.045
samples = 8

value = -1.123

mse = 0.073
samples = 14
value = -1.426

mse = 0.0
samples = 1

value = -0.688

mse = 0.028
samples = 7

value = -1.164

mse = -0.0
samples = 1

value = -0.666


